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é Grey line: exponential fit Peak flux: 3.821+/- 0.618 c/s/cm? E
= Black line: power law + gaussfit  Elyence : 31.69+/- 5.35 c/em’ E
= Dashed line: power law i —
= Duration : 22.26+/- 4.87s =
= Best fit model: 1. —
= 4 Best fluence model: 1. =
=5 Best duration model: 1. =
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; Exponential fit é
= Expon.time: 7.83+/- 1.57 s (chi*red= 0.92) =
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; Power law fit é
E Power law index: -1.134+/- 0.175 (chi*-red= 0.92) =
- + -
= bt i ! bl et P b e b o
= +ﬁ+WﬂMﬁﬁHﬂH i ﬁfﬁﬂfﬂﬂ W*ﬁ“ﬁﬁﬁ*ﬂ*ﬁﬁm++****+****+***+**+Hw*ﬂ*ﬁﬁw i MHHH*HW iy H#Wﬂ*ﬁ%ﬁﬁﬂ:ﬁm+HﬁHﬂﬁﬂw&Hﬂﬁﬁﬂwﬁw+ ﬁm HﬁﬁmﬁwﬂﬁWﬂq&%
i I T T T T T T T T T I T T T T T T T T T I T i
— Power law fit plus Gaussian (st.dev.= 6.73+/- 0.96 s, fracgs= 0.14+/- 0.03) =
- Power law index: -0.145+/- 0.156 (chi*-red= 0.91) 3
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